EARAROBEEIERT — 2 N— IBISH —F

20128F2A21H (K) 24mE &4 E2H

KM 5C244 C24 5% EEE N
[A&4] 1 #%:130,00H ~ 2#%&:26,000MH ~ 3#&:13,000H / 4%:0M / 5&:0HM
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= N = LEmE 132, -0 X — ILAFIBE (BEE)
1l7l7|717va5+2 o4 cEe 1(3_2)2 2-2-2-2 | 39.8 3 (5@2) pritiig
R:TFy k=0 BRYI/T Ry BOBERAS
3 S 8 4 | BHERA 1:32.7 1-1-1-1 | 40.5| — 4 461 | EHSET (BHE)
2 6 ¥3I/b>0 54.0 2 1/2) © B.LEA
R:F—TRTN— b B:RE—KO-L> W7 7 — L
N . > 1R : -3-3- — AL (BEHE)
s 4 | NTNFE— T4 %o e AR 1 ?_ZS PERE
L:O=I X124 B:RAFXRAT LU E— EvJdLy RT77—L4
> s o4 | AFFBR 1:33.4 5-5-5-4 | 40.5| — 2 444 | BTREIA (BEHE)
aj1|1|Tx=7L =N 54.0 @ 1/2) 42) | ) Tr—ZhEVa
RV GFTHAL R BiYLLIR—) BRT 7 — L
N o = N RARANAEB :34. -8-8~ . — BEOXk (BEE)
5lglg| YN —51=27 i) e AR ° f_(;i MEET 2
LY Ny THY BTIFFN-k THEE
5 S B4 | SHEX 1:34.6 3-3-4-5 |41.8| — 7 386 |TMTEA (BHE)
6 2 JTIVJI—F 54.0 (1 1/2) 1) S Eg—
L2911 T b F—F7—K—K B:X/4—bLF71 #0125
o : g o4 | DOEEFIAE 1:35.3 6-5-7-7 |41.8| — 6 446 | TTOBF] (BEHE)
7155 JO—K714—=JLR * 6.0 3) (+4) (B) A—2457
L:2Fxv> BT AT7—-T> [re-rie]
N N REE_ : —7-6- — FHES (BHE)
8 NEPIT L i o8 o 1.(356).3 7-7-6-8 | 43.3 8 ;1:125) FeRs
R:bvHLTFAF— B:T77OFLLY ol e )
@ 1—F—@&BIEf
13—7+— 6,7,2,4,1,5,3,8
Aol=5r= 6,7,(2,4),(1,5),3,8
BEE 6,7,4,2,1,3,5,8
41—+ — 6,7,4,1,2,8,5,3
[ RN
B OB 7 500 B & 6-7 1,360M 3ER 4-6-7 560M
% B 7 120 | | &5 B 7-6 3,650/ | | 3EH 7-6-4 6,170
6 1704
4 110

ABICOVWTRDTEEERROODE. TR LIV,




